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a) Indikativ: 

Präsens: Er ___________________________________________________ 

Präteritum: Er__________________________________________________ 

Perfekt: Er____________________________________________________ 

Plusquamperfekt: Er ____________________________________________ 

Futur 1: Er ____________________________________________________ 

Futur 2: Er ____________________________________________________ 
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b) Konjunktiv I: 

Präsens: Er ___________________________________________________ 

Präteritum: Er__________________________________________________ 

Perfekt: Er____________________________________________________ 

Plusquam.: Er _________________________________________________ 

Futur 1: Er ____________________________________________________ 

Futur 2: Er ____________________________________________________ 
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c) Konjunktiv II: 

Präsens: Er ___________________________________________________ 

Präteritum: Er__________________________________________________ 

Perfekt: Er____________________________________________________ 

Plusquam.: Er _________________________________________________ 

Futur 1: Er ____________________________________________________ 

Futur 2: Er ____________________________________________________ 
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